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FIRST YEAR HIGHER SECONDARY EXAMINATION, JUNE 2022 

Time : 2 Hours

Cool-off time: 15 Minutes

Preparatory Time: 10 Minutes 

Part-III

BIOLOGY
(Botany & Zoology)
Maximum: 60 Scores

General Instructions to Candidates: 
There is a Cool-off time' of 15 minutes in addition to the writing time. Further there is a '10 minutes' 'Preparatory Time' at the end of the Botany Examination and before 
the commencement of Zoology Examination. 
Use the 'Cool-off time' to get familiar with questions and to plan your answers. 
Read questions carefully before answering. 
Read the instructions carefully. 
Calculations, figures and graphs should be shown in the answer sheet itself.

Malayalam version of the questions is' also provided. 
Give equations wherever necessary. 
Electronic devices except non-programmable calculators are not allowed in the 
Examination Hall. 
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PART-A 

BOTANY 

(Maximum: 30 Scores) Time:1Hour 

I. Answer any 3 questions from 1 to 4. Each carries 1 score. (3x1 3) 

. Fill in the blank.

Diffusion of water across a differentially or selectively Permeable membrane is. 

Choose the correct answer.2. 

Reserve Food in Phaeophyceae 
Floridean starch, M�nnitol, Starch, Algin) 

3. Observe the first pair and fill the blank.

Light reaction: Grana 

Dark reaction: Soma 

. Name the process which is common for both aerobic and anaerobic respiration. 

I1. Answer any 9 questions from 5 to 17. Each carries 2 scores. 9x2 18) 
5. Plants adapted to dry tropical regions exhibit C pathway.5. 

(a Name the first CO, acceptor in C4 Pathway.
(b) Which is the first stable product formmed in C4 Pathway ? 

6. Define Mycorhiza. How is Mycorhizal association helpful to plants?6. 

7. Differentiate between long day plants and short day plants. 

8. Match the following 

A B 
(a) Bryophytes 
b) Pteridophytes 

) Double Fertilisation d 

(i) Protonema o 

CGii) Prothallusb
iv) Naked seeded 

(c) Gymnosperms 

Cd) Angiosperms 
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PART A 

BOTANY

Time 1 Hour (Maximum:30 Scores)

axoos 4 uoow2 dal0sj6oBgl8 ag0malejo 3 a0m0olm 2omonasYa. 

1 amod almo.

1. alsjaaJo couno nolnlen)a. 

I. 

3x1=3)

0 0u0smamojyoomiejoswgg neIomlarg aiyOnumaom 

oolwom 2o00o olos60ms1ODsIDA. 

aolcwonnrAMilewagloel muosolanna{S ga0o0o
(anogooiuwlwd gpod, aomlegoô caacmeRo, slo) 

2 

3. a0m oe aJ8onuð meee mimuo amgieo asjano cUo 3. 

aola le. 
(nlao0eIgo: (Unomn 

4. Qouojmumaolejo aoaio@ojmumomleo n00Jool mseom (nlalwmg9s 
Gal09]a». 

5 ay 17 aJoawa2 Gal0@j13gl agomaleo 9 oolm gomonarjna. 

2 amyod almo. 

IL. 

9x2=18) 
o6mca9ieo (nJGaos3gl% augom umjngleoom C nom 5. Q1061s

a06mSm. 
(a) Calomwlne amay CO, mla@amonlao Galo0rma. 
b) C aomwloe ameg 2jman0o6m ? 

6. 

alo0nJGaoajmoa0nom ? 

7. ldneslm rumujmajo (nnmjglm mumjøas@jo nlee2 aimjomuoavoja. 

8. Gal@onJsl Galdan:

A B 

(a) (6mIGwO6a0g)ð 
b) osolanwonnogjað 

(C)sloamomüa dnja 
(d) ieawomdnlõaYa�iv) aomonigmmleasonu

)lonlemuaem 
(i) Gaoa_osmla 
(ii) G(alomoems 
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9. List out the four components of xylem in angiosperms. 

10. Given below are certain processes that occur during the different phases or Prophase I 

in meiotic division. Arrange them against appropriate stages provided in the table.

Crossing Over b 

Formation of synapsis u 

Terminilisation of Chiasmata 

Dissolution of synaptomal complex. 
(a) Zygotene 

6) Pachytene 
(c) Diplotene 

(d) Diakinensis 

11. Write any two uses of Bacteria. 

12. Define Respiratory Quotient. Write the RQ value of Carbohydrate. 

13. List out the four stages of M phase of cell cycle in correct sequential order. 

14. Observe the given diagram of Mitochondria. 

Outer Inter membrane membrane Inner
membrane spacee

A 

(a) Identify and label parts A and B. 

6) Why Mitochondria is known as the power house of the cell?

15. How do conjoint vascular bundles differ from radial vascular bundles? 

16. Write any two peculiarities of racemose inflorescence.

1. List any two functions of cell wall in plant cells.
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9. alosnomuemmlong moe eIsamoa9mgpoam«99}D)». 

10. 
gGoNOTmlne) oinJoanDmSI oeigomlos msanm alalw (nJAlwagoSm mo6 

oolwol aoaloS)0m. 

iaomloonaoaud 

mulmonmm'ojala»osmo 

aomUag aaidng|S}M}
mulmonsoso6mlacs a0oglaimu"' mnJAA120m). 

(a) 9omanogiad 
(b) a0esglad 

wlaajogiad 
(d) qwo0NAndmlam 

(c) 

11. 6nJ0aslolwagss ome gnJGwoUns3ng910. 

12. mm oMaoo% lõNlaldasNn. áoðc6mJ066aEuglo vojmmaomino0MPKONA 

13. aoU0al(a00l6eI M °eI^aola moe negmdð voolwow tAaormloegjAn. 

14. m009 Mmlolanm 00acgocaosnoisiowos af(mo ldlaalasa. 

Outer Inter membrane 
membrane Inner 

membrane space 

B 

A, B am caoswognSI00lwlsigg conmBð ololajolosro0a. 

b)onaagoaomöslw aeUoolnel alaudaomagmmalwsj5}maoMma00 
(a) 

15. ndaeowlaý uodinnm mogl ajnns03ð coulwod muonlnnmmogl ayadglos

16. omlanomi'al®]eagos cns roalaonaioaoavjoa. 

17. rumUjeaoiðamglos ca0U0claoloyos osns vômonogrjooa. 
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. Answer any 3 questions from 18 to 22. Each carries 3 scores.

Y8. 
x3=9)

Given below are certain activities of growth regulators in plants. Arange them under 
suitable heading in the table provided. 

Initiate rooting in stem cuttings. 
Bolting in rosette plants.
Apical dominance. 
Increase length of grape stalks

Parthenocarpy in tomatoes. 

Speed up malting process in brewing industry. 
Auxin Gibberellin 

19. Write any three differences between cyclic and non-cyclic photophosphorylation. 
20. Define Hydroponics. Write any two applications of hydroponics. 
21. List out any three modifications of root with one example each.

22. Given below is the schematic representation of tricarboxylic acid cycle in respiration. 
Pyruvate 

3C) 
-NAD*

CoA NADH+H* 

CO2 
Acetyl coenzyme A 

(2C) 

Oxaloacetic acid 

NADH+H1 (4C) CO% 
NAD 

NAD 
NADH+H

a-ketoglutaric acid 
SC) 

CO2 
NAD* 

Malic acid 

(4C) 

FADH 
NADH NADH+H

FAD GDP 

GTP 
(a) Identify and write the compounds A and B in the cycle. 

B 

(a) 
(b) Name the scientist who first elucidated the cycle.

(c) Where does tricarboxylic cycle occur?
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Il. 18 yoo 22 aaowyag aloajnglos ngomelgjo 3 pgmoi gamosavymya. 3 amyod alNmo. 
(3 x3 9) 

18. mojsomgios 
TUngos ugdajo miwTolagas noom nadommeongo0m m OXploleaxm. nislaalod galmaowudldhtomudes mooegausw (adlaolenja. 

0mUolod mlm onud' axagjaiond munnowlaom). 
a0 mumujmgloe cmoaglas. 
voldnaouluom)o
ayaloleoelagjos osloag igo ai@uwaenjm 
Menogolod aJodamamoaoda{l aJolglenm] 
(myolous ajamvoworolos aovâ_lsos (nAlw aauomlenam). 

lanycielco 

19. 9mla n0o0go0nCom`nCOilaehma oTmoamðooxmuglai ncoogoanomünocloenmp 
anleneg amauymjomusogyyn}. 

20. 99aa(uoGnl06Tmla aNoDM aldaialam. 90a0@wo@al06mlamlo oons 
(JoGwOsl DalG@oUn60136@9]m. 

21. coaL0s ngomeleip am ojn/ocm06mo g00a000mmUaslmo n)910a. 

22. vQmmnllwolne 0saodamuomlelas mmmiu' ala0aolo G0alo

Claosmaosm mo9 omiolenm. 
Pyruvate

3C) 
NAD 

CoA NADH+H*

co 
Acetyl coenzyme A 

(2C) 

Oxaloacetic acid 

NADH+H (4C) CO 
NAD 

NADH+ NAD 
a-ketoglutaric acid 

(5C) 
CO2 
NAD 

Malic acid 

(4C) 

FADH NADH+H
GDP 
GTP 

FAD B 

(a) aluolos, A, B muo@amanag0mm oiolaldlorompjm) 

(6) 09saodasnioamlelammieu alo amayao jamoaol

c)00saodamIoarslelas mgmlnw'algho Msanmomalosoom? 
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PART-B

ZOOLOGY

Time:1 Hour (Maximum: 30 Scores)

(3x1 3) I. Answer any 3 questions from 1 to 4. Each carries 1 score

1. Pick out the proenzyme present in gastric juice from the following 

(Trypsinogen, Procarboxypeptidase, Pepsinogen, Amylase)

After ovulation, the ruptured follicle in ovary is converted to a structure called2. 

3. Name the most abundant protein in animal world. 

4. Identify the graph. 

100 

80 

60 

40 

20 

20 40 60 80 100 
Partial pressure of oxygen (mm Hg) 

Answer any 9 questions from 5 to 17. Each carries 2 scores. (9x 2 18) 5. Mention two functions of the following 
(a) Gills in Mollusca 

(b) Flame cells in Platyhelminthes. 

. How does exocrine glands differ from endocrine glands ? Name two secretions of 
6. 

exocrine glands.
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PART B 

ZOOLOGY

(Maximum: 30 Scores) Time 1Hour

1 yxo8 4 ausooyeg aai0s1snglos agnmalejo 3 ngpori gomonavym)A. 

ampod almo. (3 x1 3) 
1.019mloloajmaiols rslmo njomislas emslos smlalolaeoym 

Galon)doomo ngomm olooammsj0m n)*joa:
(slnsmslamosacö, ajnJDaodasnio.amlaadaiglanwmi, onnirulamosi, malceimi) 

Cocomwoadmuôecmarnilng cudndio on10S]m aJ}samd (anDoglesiA)_G 2 
aloladoomo 0agoS}m]. 

3. 0GA1a.odnggaijo (Toulaho asmjsjm a0omjaolag Gnio DA. 

4 wnondloljoloa. 

100 

80 

60 

40 

20 

20 40 60 80 100 
Partial pressure of oxygen ( nm Hg) 

II 5 am8 17 a1oowg2 daloajsmglo6 4G0maleijo 9 9po0kn 20mosas10ma. 

2 Gmod almo. 

o mmlolesmaiolod aocoomlac@wyo wôncmuâ aJ0oa@ulaaja: 

(a) anogmancoloe voajeImBUð 
(6) 8Jglon0almmloe eyoeo@.aO0oBUo 

(9 x 2 18) 

5. 

6nJanldmuoalunmola 
jmjomusjslolenm] ? sminsldmuoalnmolauô 2gOsigleom (munusomajos Gnio 

6. car:(mUOalunmolagls rim 60136m
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Match the following 
Bloodcells Function

(a) Neutrophils ) Transport of respiratory gases b 

b) Basophils i) Immune responses of body l 

|()Eosinophils 
(d) Lymphocytes (iv) Allergic reactions 

(ii) Secrete histaminea 

(v) Phagocytic destruction of foreign organisms 

S. The given diagram represents a section of small intestinal mucosa

B 

(a) Identify the structure labelled as 'A' and "B°. 
(b) State one function of each structure. 

Name the different respiratory centres situated in brain. Explain their role in 
9. 

maintaining and moderating the respiratory rhythm. 

10. Musca domestica is the binomial nomenclature of housefly. 
(a) Identify the Generic name and specific epithet.
(b) Mention the phylum and class of Musca domestica. 

11. (a) Identify the tissue and state its main function. 

Multi 

layered
cells Y 

(b) Write two regions in human body where you can find this tissue.
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gaJolonlS Galdes)d7. 

w@2mo(a) myosonolo8 
(6) a6miamondlo8 
(c)gpmamoaclos (d) elodn0000mug 

() 
(i) odloomlog (nola0ow (nlao6msmdð 

(ii) algpald(mualalaom) 
(iv) ce@sloaowl 6numwSnQdomm3d 
(v) odloomlos a)0ola@m rujaj glaie%n

mUollam

ojmum QOMd6013gS MAlaoMo

8. modeulalenm 
9aJ0)selong Ggoeaoglwjos (nJlmulaoleo)m). 

(a) A,B «Nm (mswognaj5aolololenm eisAmðmlolajolosro0]))b (b) 8oa0omlonjoo 0a00 uwômo nl0on�uolanja.

amloorols muslol aQm aslalw ojmum Gh(1360130 ngoogoo ? omum mogo 9. 

mleimlôommolejo lwTolenmoleijo aouojns alalvodaole)Ab. 

10. myos elaiu0om moaao6m am» ouvoagle 
(a) (a) pol8 elmg mo2o, mUnlintlgmono ngomm n)P}®}.
b) 

11. (a) eow olololao caolo inJwom wâzmo (uonlena. 

Multi-
layered 
cells 

(b) 
9M. 
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12. The following is the pathway of sound waves in the process or hearing. Fill in the 

blanks with appropriate terms given in the box.

Basilar membrane Ear Ossicles
T 

Tympanum Utricle Tectorial membrane

Pinna > Auditory canal A B_ Oval window> Fluid of cochlea -

C Hair cells D>Auditory nerves Brain. 

13. If the head of cockroach is cut off, it will still live for as long as one week. Justity.

14. Diagramatic representation of impulse through an axon is given. 

A 
Na 

+ 

Na 

B 

Explain how an action potential develops. 

15. Complete the following table:
Genus name Common name 

Wuchereria A 

B Silk-worm 

Pheretima C 

D Honey-bee 

16. Distinguish between diabetes insipidus and diabetes mellitus. 

17. Comment on the symmetry of phylum Porifera and phylum Echinodermata. Name the 
system of transport of food in the members of these phylums.
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12. nJalowloe wny 0oUnamg]nS muSTmI00 aom mo6y modalwldlanMTM}: olTUIG8 modalulolaojm palmaow aom\ai galawoula aisjanlo gou olnlea.
ab6momolað 

dsmaSo JSlsTd Saagoolood moo aJleos »ðmmo@o A B 68008 aladcawo
Gooncao0sBd _D_ (3001ho C 

Unamomend 2glajo.
13. Jogojos odloormlod mlmjo Meiaola0oglcwoejo o aaosajcwogo sdlaleoo mowlaolao]a. 
14. a0 craamoamleijoswy22 mcouomlooë (nimosmo ao6mlasym alo Tm Malololeamo. 

A 
Na 

Na 

+ ++ 

MyGooSmaglo8 (CaTabn4rd aJ0gdJ) a) 60136m

15. sl a@orolwoan)» 

em 
A 

B 

a000gla C 

D 

16. vwmiglu paðmilalawmjo avwmiglms 6neigmjo mamle ajmjomuo

Goalnas00I. 

17. 60elo dnloolaoio, 90anelo aneolemonrwdaog gmlaoyss mvaalolowajlai 
91ja. caodajoa0m aoc0o on0eIoDlaeiwp moinmgloe wdooolos
aa000 mumiosmo n)so30m uoeuyaoaogn] 09mijamaoama. 
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m. Answer any 3 questions from 18 to 22. Each carries 3 scores.

Graphical representation of electrical activity of the heart while it is working is given. 

(3x3=9)

18. 

R 

Write down the different activities of the heart represented by the peaks from "P' to "T. 

19. Enlist three differences between Red muscle fibre and White muscle fibres.

20. (a) Identify the level of protein structure in the given diagram.

C 
(b) Name two levels of protein structure which are not three dimensional. 

() Give an example for protein having quaternary structure and justify your answer. 

Write any three differences between chordates and non-chordates. 21. 

22. By selecting appropriate terms from the bracket complete the given table which is 

related with excretory system.
(Urea, Mammals, Uricotelic, Bony fish,Amlonotelic, Uric acid,Snails)

Typesof excretion Nitrogeneous waste Example
A Ammonia E 

Ureotelic F 
B D Birds

FY-26 14 



I. 18 OMod 22 au9oweg dal08j3gl3 nGoo@leo 3 a9mOolm pom0sar]M)a. 3 amod aio. 

18. as@o (uaidomlenamioð @nlnSIm (nJamja 09a18ym odommoola0aoalMo MIalmlolanm. 

(3 x3 = 9) 

a T unowee saoo 2ajmunomaijo (nimlmlulaalanmagolom r 

T9. 0im GalUol mooagjo 0gj0m Galdol mo0a@)o Mmlengg om QiJoJomu8BUd 
G0al5]omb. 

20. (a) mlolenm al\oooloe chlo�lað aeismwjos melo aß? 

C 
(6) Ulaom myeonlo jOm oe menole22 dnloglað ceIsmað ag0m0n40? 
aoosdmol' meoolos neismu2 oniogil 6o) g00a0omo moiajaDo

Clconayns20m0o MjowladlnLawo MaJga. 

21. Goðawgja amosmoaaodaugLa@o mleie
ajjomus013ð n h. 

n6leljo 

22 22. (mo6glas mlm almao JG90 olossoms0 a)*}i, almvdarm
Qujaurunoaowl mumvS09P modalololesXm «igla nJðomlooanj. 

(cyolo, arummmlað, wnolaa000Sela, caoruslaonujsonô, amcaogomosel, 

oyola agml, Baj}ab)_
alcouno 60msed aoelmjo 260nn06Tn601300 

E 
F 

A 
wolewo6Sel 

B D 
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